EARAROBREBRT —5 XN—ZXBISH—F 202278138 (K) SOEH1H

W C3- USR3IF/L ECR IR
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
NPss Kii—& 134, -3-2- . - fm (Fak)
11717 FayySr— 4t 5 e 1(?f1)5 3-3-2-3 | 411 6 (4_771) s
RIVIRI—ZZRYI— B:E17IVISVZR ERREHUS
=, B3| KHEM 1:34.7 6-6-4-2 | 41.0| — 4 | 472 | ENEEE (@EHR)
] 2 SRV 55.0 (1 1/4) @) | SERE
RiaAN/VyF— B FUVERR—5— #iE &5k
~ <R 4 | AUEE 1:35.3 8-8-7-7 |41.2| - 3 476 | REHIRE (FRR)
30111 DUFARRIVR 56.0 (31/2) () |LLEEE
RNy vH—)b B:IHAIY pldie ]
S 4 5 | PHELT 1:35.4 10-10-8-5 | 40.6 | — 7 | 475 | HER (@ER)
sBY 3| *rvavvaE 5.0 ) (o |HEE
RIRIIATAwIIAUT7— B4R " s
= ) B9 | MIRhEt 1:35.9 4-3-3-4 | 42.3| - 5| 46 |EAE— (@R
5 10 IW=/=)b 5.0 %) © |18 FoHFRZ b ES
RFVYPH/FEFE BIYyF—FUIR EH =B
=[S 8 7 | WMAFEH 1:36.1 7-7-4-5 | 42.2| — 2 467 | EENSTE (BB
1 o IRLCEZEELD. 54.0 Q) 1) |18 FA—IHPRZMEE
RFVIARZS B OT(H95 PNCLYE
= \ = &R :36. -1-1- . - 24KR%E (BH
70N 4|77 —LVILT« S 1(93?:)2 8.0 1 (4:‘(3 /M%%g )
R:IVUSTyik BRIVNFAST LT Bl BE—

» I~ t 5 | AE 1:36.5 9-9-10-10 | 41.9| — 10 | 438 |TEHER (EH)
glglg|O—RLAIVT ! %53.0 %) (5 |18) AP MES
RIN—ANR B:RARYIA—Y NE A
WIS 4 8 | EFEl= 1:36.8 5-5-9-8 |42.8| -— 8 449 | OIS (k)

97| 8| AYYYTSA K 54.0 (1 3/8) 45) | SHES
RiPRIAVL—Y &:F7—0 WA BT
y R= 3 | {ELAIHEE 1:37.2 2-2-4-9 |43.7| — 9 ng | REAL (FEkR)
10/5|5 | IYIIY ET—Ib R @ 1/2) 4y |EER
R:7ZRIAVL—Y B:TSVRYv ML Wing Farm
@ 11— —BERIEI
13—7F— 4,5,7,10,8,2,6,1,9,3
20—F— 4,5,(7,10),8,2,6,1,9,3
BEIES /S 4,7,10,(2,5,6),1,3,8,9
40—7F— 4,2,7,10,(3,6),1,8,5,9
0 ILRE
BB 7 1,380 | | 94 R 2-7 1,850H & 2-7 3,180H 3ER 1-2-7 14,520/
B B 7 360M 1-7 1,970/ o 18 2-7 6,710M 3Es 7-2-1 180,110
2 280H 1-2 1,990 oS- 1 7-2 12,2304
1 3004

ABIC OV TRUTEREERRODDZE. THRIIZEL.



